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ECE 3455
Quiz #3
March 9, 2000

1. This quiz is open book, open notes.
2. Show all work necessary to complete the problem on these pages. If you go on

to another page, indicate clearly where your work can be found. A solution
without the work shown will receive no credit.

3. Show all units in expressions and figures.
4. Do not use red ink.
5. You will have 25 minutes to work on this quiz,

/50

Bonus: /10

Total: /50
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[image: image2.png]Diodes D2 and D3 can be modeled using the graph below. Diode D1 is ideal, that is, s =0, r =
0, and v, = 0. Guess the state of each diode, and test your guess. State whether your guess was
right or wrong. You can earn up to 90% of the credit for this problem even if your guess is
wrong, IF you prove that it is wrong. You earn full credit only for a correct guess/test.
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[image: image5.png]Bonus: Re-work the problem if D1 also has the characteristics shown in the graph (i.e., it is not
ideal).
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